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FACULTY OF COMMERCE
B.Com., III-Semester (Regular/ Backlog) Examinations, Nov./ Dec.,-2019
Advanced Accounting

3 Hours Max Marks: 80
Section - A (Short Answer Type) 5x4=20M
Answer any FIVE of the following questions in not exceeding 20 lines each.
Bod a0S° DB 0 FBHH w88 20 HoKeBd oD waren (FAI.
Explain the treatment of goodwill at the time of retirement of a partner.

i) DEoes $5009088 HEISE DG HONBIRE® DHBoHE®.

What is Garner Vs Murray case? What is its ruling?
™55 Vs £0@ 5 @b I0? @ SO0 HG?

Give the journal entries for forfeiture and re-issue of forfeited shares.
TePe @) 0D T8 08 HowoHoD VEPHIRED (FTAWK.

What do you understand by profits prior to and after incorporation? How do you calculate them?
SIS ZwoH HOAH SBaE ergren X JSH BOAW? A DYForr BNL?

A, B and C are partners sharing profits in the ratio of 3:2:1. D is admitted as a partner with 1/6"
share. Calculate the new profit-sharing ratio and sacrificing ratio.

A, B, C e» ergrods 3:2:1 38S° H0sHd gerigen. &% D 1/65 Ko seerd 8 ISR
BEHTND. B DdTre Dok 5°Y fdape DY $B &g AYBI E°Kosw.

X Ltd., issued 2,000 shares of Rs.10 each as fully paid to the promoters for their services and issued
1,000 shares of Rs.10 each credited as fully paid to the underwriters for their underwriting services.
Journalize the transactions.

X ODBE (HRre8 VP BB Eri. 10 FHPS Frore 3YodS 2,0000 déredn @0 Bod. o
DFore SomerATeEsH S 00 DHe der w888 Eri. 100 FHPS 1,000 artredn Stronodob.
& HEISFTODH DEPHEen (T°A50LD.

How would you show the following two items in a balance sheet of a company as at 31 March,

2019.
31.3.20195 &) &8 S0 e} wpe S Bod woTeH DGO SrHEH?

General Reserve (1% April, 2018): Rs.2,00,000.
Fe8es 623(595 (1.4.2018): &1.2,00,000

Profit & Loss Account (Debit Balance) for 2018-2019: Rs.1,50,000.
2018-2019 K058y0°08 @ﬁeﬁé%@ grae (GO dex): &i1.1,50,000
From the given information calculate goodwill at 4 years purchase of super profit.
od DTre Ko Teenid KHoXBToL XK ergre Ehoftenre HEJSI 88)0H5m.
Adjusted Average Profit (:5&eréx BS disen ergfo) & Rs.2,58,000

Normal Profit (Rree8es ergfo) @ Rs.1,94,000.

Section - B (Essay Answer Type) 5x12=60M
Answer the following questions in not exceeding 4 pages each.
Bod BEHODH 2.8 o8 4 Do WoI wdrad (TCHVED.

a) What are the essential features of a Partnership? Give the provisions of Partnership Act, 1932
applicable when there is no agreement between the partners.

R TGRS OFErSD? e S edoso B3 GeriegEg $&o, 1932 S PotHHBNS
QTN Be)m.
ORBw)

b) On 1% April, 2018, A and B entered into a partnership contributing Rs.24,000 and Rs.10,000
respectively. According to the deed, the interest on capital and drawings is to be charged @ 8%
per annum. A and B shall reserve a monthly salary of Rs.2,000 each. A is entitled to 3/5" and B
is entitled 2/5" of profits.
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n2::
1.4.20185 A, B 0 $5&3me 8. 24,000e0 £08050 &oen. 10,0000 ’o)échea&?\) D0EREY)E arﬁa‘géaé

T5rE0s® (B30T, aljoro [HErto Kurerto B PosaEseD $oSET I8 8% HEJ 78
BeH5B. A, B 0 0% Swei.2,0000 é@@& &?&é&@é 85%®. A, B eo @5263.@@?63 SBde 3:2
BSE HoHBor.

During the year:

i) ‘A’ withdrew Rs.8,000 from his capital on permanent basis on 1% October, 2018 and on the
same date ‘B’ introduced Rs.4,000 as additional capital.
1.10.2018 A &3 Swregdo od dBorr Eri.8,000e0 IHBH EHonk. o8 &erd B

811, 4,000050 @885y Srregidorne Sso8ro)h.

i) ‘A" withdrew Rs.3,000 at the end of each quarter and B withdrew Rs.6,000 at the end of
each half year.
(8 S Jve DSBS A &11.3,000, (H8 e Jve IH8S® B 8i1.6,000e0 rosls

BoHTN .
iii) The profits for the year before any adjustments is made was Rs.60,000.
P $QEresH Swoth & S0 erglo &ei.60,000.

Prepare profit and loss appropriation account and capital accounts of partners when the capitals
are fixed and fluctuating.

P DT Ho& eyl Sepo Sdyeren grardd S5rdd 3D, 8 0 @B Hresd :3%386‘3 At
Sore50 grEeedn e Bosnsm.

10. a) Why is a partnership firm dissolved? Explain how the accounts are settled when a partnership
firm dissolved.
wﬁﬁ‘gaé)?g éoé QOO 6632@630&? ©8& 6(‘5{303326@&) gPT°eD DABOMP é@ﬁ"&éo 33_285 QHBoHIW.

ORBw)

b) Following is the balance sheet as on 31% March, 2018 of a firm having three partners Alfa, Beta
and Gama sharing profits and losses equally.
31.3.2018 o8& wer), der & mres SEPS grrieor 6X) a8 K08 e} efpe 18 Bod dgore

&9)0.
Liabilities (&5yen) (Rs.) Assets (spen) (Rs.)

Sundry Creditors (D& emestr&en) | 20,000 | Cash ($r1eh) 3,120
Loan (exes0) 10,000 | Stock (38>%) 14,630
Capital: Debtors (exes(t50e0) 4,720
Alfa (se2)) 8,000 | Machinery (cSo(geen) 10,530
Beta (Hex) 6,000 | Profit & Loss Account (ergidare ga®) | 12,000
Gama () 1,000

45,000 45,000

Beta was insolvent and the firm was dissolved. Stock was sold for Rs.9,900 while machinery
fetched Rs.5,000. Rs.4,000 were received from debtors. Realization expenses totalled Rs.220.
Nothing could be recovered from Beta. Close the books of the firm.

Der Barer Sabos® S0 Bfomod. S Ei1.9,900 0y dhogress &ei.5,0000%

@2:630&63. 20es (50 ol . 4,000e0 SROAsTZ00. é&&?&é gEYen &, 220. Der 208 D
Sden SB. D ddoew Hod éo}g FOISISEISN HoPR S A5050.

11. a) What are Bonus Shares? Why are they issued? Explain the guidelines of SEBI for issue of Bonus
Shares.
SR reren oS JW? B o @8 VFH? T8 08 Jowosod SEBI SrEstsre

DHB0BK0.
ORBw)
Contd....2/4



Code:080/ET/R/BL
HHcHH

b) Akshara Computers Ltd., issued 20,000 equity shares of Rs.10 each at 10% discount. The net
amount payable as follows:
©ES o) DMWBE 20,000 S8 arerodd afEH® S 100 SPHPS 10% GI%0e0S

28 Zob. IYoHen [Bod JForre es8rrd.

(Rs.)
On application ($58g03) 3

On allotment Eerowosd) 2 (After discount Rs.1) (Sl &0t STE)
On first call (Ro&& HedD) 2
On final call (& ensd) 2

Applications were received for 16,000 shares and allotted to all the applicants. A shareholder
holding 200 shares did not pay final call. His shares were forfeited. Out of these, 100 shares
were reissued to Ms. Sonia at Rs.7 per shares as fully paid.

Give journal entries and show necessary accounts in the books of the company.

16,000 aeéros $8arien Torr ©oids arerel Biromomedd. 200 aeres SDA 6K &l

TP H6 e Wi BPoSE MBLE® ©E Tered @) B, 0S® 100 areroln
DBEIATE e 2,888 i To TP o BYoDID™ BOA &b Brdo.
2 Ddre $08 EoDd Hes® DEP Do (@R, BIIEFP grErety Sre)m.

12. a) Explain the general instructions for preparation of profit and loss account and balance sheet
issued by Companies Act, 2013.
gode 6%0—2013 kSiSitele) @2;5?6%30 grae O @) edpe B’Jé@ BS5rS BAHTe8 8 D

FHeSes NrSdodn DHBoHIm.
OR@Bw)

b) The following are the balances of Lishanth Co. Ltd., as on 31* March, 2018.
31.8.2018% &) drod B0 OWBE a8 HIED Dexen Bod DeFore eTow.

Credit (B&¢5) (Rs.) Debit (R&¢5) (Rs.)
i om0 (ot s . 10) | 50,00,000|Premises (eiies) 30,72,000
12% Debentures (12% &BosE)) 20,00,000 | Plant (5zoé») 33,00,000
Profit and loss account (ergfidape aree) 4,00,000 | Stock (38:%) 7,50,000
Bills payable (3905 Hexen) 3,70,000 | Debtors (emea(icyen) 8,70,000
Creditors (axeatrsen) 4,00,000 | Goodwill ((H&EDS) 2,50,000
Sales (e95y5°en) 41,50,000 | Cash and Bank (5:5¢% & er50%) 5,44,000
General reserve (Jrgr8es Bastis) 2,50,000| Calls in Arrear (Qeosded® ascones) 75,000
Bad-debts provision on 1.4.2017 Interim dividend paid
1.4.20175 carbe Homen 35,000 |39005 souse08 89060 3,92,500
Purchases (§°%0f*¢)) 18,50,000
Preliminary Expenses (@Pgn8 et)en) 50,000
Wages (I&aren) 9,79,800
General Expenses (SFge8es t)en) 68,350
Salaries (Zare) 2,02,250
Bad-debts (ooQer&en) 21,100
Debentures interest paid
3QoDS BBosyp S 1,80,000
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Other information (288 $Sewrdo):

i) Depreciate Plant by 15%.
SPoenR 15% SBrdee Sexd.

i) Write off Rs.5,000 from preliminary expenses.
(EP508 9B Kod G 5,000en B8 Baird.

iii) Half years debentures interest due.
8 Jod&Bo EBoSTP Eécé, QB0 GO

iv) Create 5% provision on debtors for doubtful debts.
NIeE VLRI wrde §°8% aweife 5% SooyEn Sosrd.

v) Provide for income tax @ 30%.
30% STPeH) HXy) EEEH QTLD Sred.

vi) Stock on 31 March, 2018 was Rs.9,50,000.
31.3.2018% éé& SoA0) B &en.9,50,000

vii) The board declared a dividend of 12% on paid up capital including interim dividend.
8% BYoDS FreEsop 12% EAT0K (HESOE EAToHE IR0 (HEBoD0b.

Prepare final accounts of the company as per the requirements of the Companies Act, 2013.
D ddoeew o gonde iﬁégo, 2013 (@sr80 Swho) BB ST B50S0.

13. a) What is the need for valuation of Goodwill? Explain the various methods of valuing goodwiill.
HEDS Loreergo8S eNEES ADB? S07°erg08550H Ko NG Kac‘géa@éa D5B0HRw.

OR@Bw)

b) ABC Ltd., has a paid up capital of Rs.3,00,000 divided into 30,000 equity shares of Rs.10 each
and 5% 1,000 preference shares of Rs.100 each. The company has Rs.1,00,000 debentures, the
interest payable is 10% p.a. During the year 2017-18, the company earned a profit of
Rs.1,60,000 before charging interest. The company declared dividend at the rate of Rs.2 per
share for the last year. The normal rate of return is 20%. Tax rate of 30%.

Calculate value per share under Earning Yield method and Dividend Yield method.
E0Dd BYoDS Hwreio . 3,00,000e0. 305E® 30,000 Si&d areren e85 i 10

FEPS 8650 5% 1,000 ef85d areren e8WEHE S 100 FEIpS eavom. o2 &wi. 1,00,000
BBosEy Eres EOA ¢obd. DBP $05ET08 10% $& 3owed. 2017-18 Kod&Bos® $& Qo)
BOHE SwotH EoDd G 1,60,000 g @BoRod. 1 SoH&)so EoDd swer e.8)088

&, 20 EAToED (BEBoRod. P, Tead Tew 20%. H) St 30%.

2 DTre Hod HoarES Tl oy &R0 Tead étgééaeaé’s ToEP QeI BEoHEw.

WP®R



